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5 X 4 Eri? ‘Fﬁﬁb\(‘z)a)ﬁﬁ}aﬁ jj(gigcf)é X 4 ‘Fﬁﬁﬁ%@g;ﬂi '(r%:n? jj(gigcf)é X 4 ;.%r'na: J:ﬁn”a;b\(‘:)a)tt‘.% jj(lfifn?)—é X 4 J:ﬁn”a;b\(‘:)wtt‘.% z.%r'na)k jj(lfifn?)—é
7 100kN/m%#8z5 | 1.00 | 000 ~ 1.22| 11849 |3mE#Bz5| — ~ — — — | 100kN/ %825 | 1.00 | 1269 ~ 2034| 11849 |3mE#Z5 - ~ — — —
s 1.00 | 1.22 ~ 901 100.00 | =0t | 0.00 ~ 9.01| 2.39 12.80 s 1.00 | 6.00 ~ 1269 100.00 | =5t | 6.00 ~ 2034)| 2.59 12.80
2 100kN/m%#8z5 | 1.00 | 000 ~ 1.69| 12585 |3m&E#Bz5| — ~ — — — | 100kN/mM%E#BZ5 | 1.00 | 1265 ~ 2687 125.85 |3m&E#Bz% - ~ — — —
s 1.00 | 1.69 ~ 947 100.00 | =nLhst | 0.00 ~ 947 | 2.69 14.42 s 1.00 | 6.00 ~ 1265 100.00 | =5t | 6.00 ~ 2687| 2.69 14.42
3 100kN/m%E#8z5 | 1.00 | 000 ~ 216 13355 |3mEBZB| — ~ — — — | 100kN/mM%E#BZ5 | 1.00 | 11.49 ~ 2600 133.565 |3mEBZ5 - ~ — — —
s 1.00 | 216 ~ 995 100.00 | =nLst | 0.00 ~ 9.95| 2.79 14.92 s 1.00 | 6.00 ~ 1149 100.00 | =45t | 6.00 ~ 2600)| 2.79 14.92
4 100kN/m##8x5 | 1.00 | 0.00 ~ 251 139.80 |3mZ#BAB| — ~ — — — | 100kN/mM%E#BZ5 | 1.00 | 1055 ~ 2200 139.30 |3mE#BZ% - ~ — — —
s 1.00 | 2561 ~ 1029 100.00 | =S | .00 ~ 1029 267 14.27 s 1.00 | 6.00 ~ 1055 100.00 | =hst | 6.00 ~ 2200| 2.67 14.27
5 100kN/m%E#8z5 | 1.00 | 000 ~ 218 13385 |3mx#Bz5| — ~ — — — | 100kN/mM%E#BZ5 | 1.00 | 1053 ~ 1910 133.85 |3mE#BZ% - ~ — — —
s 1.00 | 218 ~ 996 100.00 | =nst | 0.00 ~ 9.96 | 2.38 12.74 s 1.00 | 6.00 ~ 1053 100.00 | =4 | 6.00 ~ 19.10] 2.58 12.74
P 100kN/m%E#8z5 | 1.00 | 000 ~ 1.42| 121.58 |3mE#Bz5| — ~ — — — | 100kN/ %825 | 1.00 | 1064 ~ 1520| 121.58 |3m&E#Z5 - ~ — — —
s 1.00 | 142 ~ 920 100.00 | =nst | 0.00 ~ 9.20 | 2.46 1316 s 1.00 | 6.00 ~ 10.64 100.00 | =4 | 6.00 ~ 1520 2.46 13.16
7 100kN/mM%E{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
ZhLst 1.00 | 0o0o ~ 776 99.57 | =nLs | 000 ~ 776 2.14 11.45 ZhLst 1.00 | 6.00 ~ 1050 99.57 | #hs | 5,00 ~ 1050 2.14 11.45
3 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
zhLlst 1.00 | 000 ~ 672 84.91 | Ths | 000 ~ 000\ 1.62 8.68 zhLlst 1.00 | 6.00 ~ 860 84.91 | #hst | 5,00 ~ 860 1.62 8.68
9 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhLlst 1.00 000 ~ 4.76 59.32 | #hst | 000 ~ 0.00| 1.68 9.01 ZFhst 1.00 | 5.00 ~ 5.00 59.32 | ThUs | 5.00 ~ 500 1.68 9.01
10 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhLst 1.00 | 0.00 ~ 485 60.49 | ThS | 000 ~ 4.85| 1.95 10.42 ZhLst 1.00 | 5.00 ~ 5.60 60.49 | TS5 | 5,00 ~ 560 1.95 10.42
11 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhLlst 1.00 | 000 ~ 752 96.13 | #hust | 000 ~ 752| 1.80 9.65 ZFhst 1.00 | 5.00 ~ 9.90 96.13 | Ths | 5.00 ~ 9.90| 1.80 9.65
12 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
zhlst 1.00 | 000 ~ 521 64.92 | FhLS | 000 ~ 521 1.75 9.54 ZFhst 1.00 | 5.00 ~ 5.60 64.92 | TnS | 500 ~ 560 1.75 9.54
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM%E{BZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~




